3 20GA.
STRUT

2 14

x 3/4°

UNIVERSAL SCREVS

STRUT CUP

TYPICAL TOP STRUT ATTACHMENT [ S1)

€]

T2 147

x 374
UNIVERSAL SCREWS

TYPICAL DURASAFE END HINGE [ S1)

N.T.5.

GLAZED SECTION
NOT AVAILABLE IN 18° SECTIONS

6 27 GA EXTERIOR .ﬂazl/ ;

3 20GA. STRUT

(2) PER SECTION ATTACHED

W/ (2) 1/4° x 3/4" HEX HEAD SCREWS
AT EACH STILE

TEST No. SBC—580—020 ON MAY 24, 2000 INCLUDED GLAS

GLAZING OPTION CROSS SECTION

TEST PRESSURES WERE +49.5 PSF AND —51.9 PSF.
INSTALLED IN (1) ONE SECTON OF THE 16" X 7° AND 16° X 8 MODEL

—1 ¥ y

16 GA RESIDENTIAL JUNIOR
TOP FIXTURE ATTACHED W/
(3) 1/4° x 3/4” HEX HEAD SCREWS

W/(2) 1/47 x 1/2° BOLT AND NUTS

ADJUSTABLE SUDE BRACKET ATTACHED

DeorafFrame WINOOW FRAME

27 GA INTERIOR SKIN

B0

CFC-FREE EXPANDED

R=5.73, U=017

= END HINGE
14 GA.

-

SECTION HEIGHT

INSIDE

ELEVATION

——SRUT SPACING

14GA, DURASAFE

END HINGE 77AC-ED
W/ @) /-

HEX HEAD .

3 20GA. STRUTS ATTACHED 3’ arr

W/ (2) 1747 x 3%
HEX HEAD SCREW®

NYLON OR STEEL
ROLLER W/S° STEM

14GA. DURASAFE

ROLLER CARRIER ATTACHED
W/ 4> 1/4° x 3/4°
SCREW. TYPICALCN HEX HEAD SCREWS
ALl SECTIONS BREPT

TOP. TOP INSIDECORNER
EACH SIDE
TYPICAL DURASAFE END HINGE / S1)

N.T.S. NON
S. GLAZED SECTION E

(1) 5/16™ DA, x +-34”
LAG BOLT ATTACHERTQ JAMB
AT EA. JAMB BRAGRW STOP MOULDING
W/ FLEXIBLE SEAL
(SUPPLIED BY INSTALLER)

TYPICAL DURASAFE CENTER HINGE/ S1)

STRUT SPACING ——

SECTION HEIGHT

14GA. DURASAFE

CENTER HINGE ATTACHED
W/ (4) 1/4° x 3/4°

HEX HEAD SCREWS

BBRS BOTTOM
BRACKET ATTACHED
W/(3) 1s4% X 374”7

h _~ O AR\
[\
7\
!
= = —/
" .

/.\\

HEX HEAD SCREWS.

TTT————__CONT. ALUM, EXTRUSION

SECTION A—A (SIDE VIEW)

N.T.5.

20 GA. GALV. STEEL
END STLE

BOLT RETAINER
() PER ROLLER

DETAIL

2" GALY. STEEL TRamR
TRACK THICKNESS &%

TRACK MOUNTING

y - Vi
VPR S |
L
7/16" DIA.

2 X 6 SOUTHERN YELLQW PINE
(NO. 2 OR SETTER)

\2/
WOOD JAMB ATTACHMENT TO STRUCTURE

RATED FOR 110 MPH FASTEST-MILE BASIC WND SPEEDS

5/16" X 3" LAG SCREWS STARTING 8 FROM ENDS THEN 24° o.C.

YERTICAL JAMA ATTACHMENT 10 2 po0 PSt CONCRETE

HILTI KWK BOLT 3/8% X 4" STARTING 8" FROM ENDS THEN 24" O.C.

HILTI SLEEVE ANCHOR 3/8° x 2-2/4" STARTING 8% FROM ENDS THEN 24" 0.C.
ITW/RAMSET RED HEAD 3/8° X 3° GTARTING 8" FROM ENOS THEN 24" 0.C.

YERTICAL JAMB ATTACHMENT TQ ¢-90 BLOCK
HILTI SLEEVE ANCHOR 3/8° x 2-2/4" STARTING & FROM ENDS THEN 24 O.C.

ITW/RAMSET TAPCON 1/4° X 2-3,4 STARTING 87 FROM ENDS, USE PARS oF
FASTENERS (3° APART) AT 16” q.c.

"AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
"SREPARATION OF WOOD JAMBS BY (yHERS

POLYSTYRENE INSULATION

W/ CONT. VINYL ASTRAGAL

Prp N

@™

((

BY COMPARISION, EIGHT

PTIONAL Decra INSERTS
WITH UV PROTECTION

S WINDOWS IN THE DODR BEING USED. THE

(8) WINDOWS MAY BE
1500-0 DOORS.

MIN. 2/32" THICK SS8 GLASS

ﬂf UV PROTECTION

[}

i

SECTION B-—-B

10) #8 X 3/4"
N HEAD SCREWS
AT EACH VANDOW FRAME

WTH THE PROCEDURE DESCRIBED IN ASTM E330-90, AND THE
SOUTHERN BUILDING CODE SECTION 160§ #WIND LOAD DESIGN CRITERIA
THE PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING
THE FOULOWING PARAMETERS:

A. BASIC WIND SPEED OF 110 NPH

8. DOOR CAN BE INSTALLED WATH 5 FEET GF DOORS WIDTH

INSDE THE EDGE STRIP.

¢ 15' MEAN ROOF HEIGHT AT ANY SLOPE

D. USE FACTOR OF 1.0

£ EXPOSURE RATING GF C

SPLICE TRACKS AT THIS LOCATION

WMADED INSIDE FRAME

N B

iER

0B

-Jax., FL.
VA ta—

.\Qi -

5931 GRASITY CREDX WvD

Amarr

WINETIMN-3ALER, MO 27183

MODEL #1500 WeatherGuard

i3 DUmEY U] NE Hpm DRAING MR
B o m WE SBC-580-013-J
| SAENTOSAL R N SEE 1 F |

— W/ (4) 1/4"-20 £>9Amvn_._nm HOLTS & NUTS
SECURE 70 JAMB WATH (3) 5/167 DIA x J—3/4°
LAG BOLTS BYILDING PLANS wxm%_
I REVIEWED FO
EODE COMPLIANCE
KEEP THIS PLAN ON
12 GA. GALY. STEEL
JAMB BRA - ; Lo _
s S g & L ngrynSpECuiu Lt
(ol TRACK SPLCE NUT \é
: S —— [2)1%= g
Exdminer Siggajye - &\
License No. Rw&u, N -4
[}
g O
: S
v W 3N
=y = /.\... <
R A Sy
I Tx L
ooy
TRACK CONFIGURATION FOR 6'6” UP TO 8" TALL DOORS z ‘=
ERE I £
JAMB BRACKET LDCATIONS 2 .(cu
A B C D E S %\w\
6-6'| 4" [g1-1/2°| 39" 57° 70° o A 5
7°=0'| 4° l21-1/2°| 42’ 63° 767 Oy
7-6'| 4~ 18-1/72°| 36’ 547 72° |82’ S .
8'-0-| 4’ lei-1/2°] 39’ 57° 75" |8g’] L il T
NAX SIE
8 x 8
SPECIFICATIONS AND NOTES
. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED DESIGN LOADS
AND INSTALLETH WMITH STANDARDS AS SET FORTH BY DASMA. +79.5 PSF
DOOR SECTIONS SHALL BE 27 GA. MIN. ﬂ.a_m-u INTERIOR AND EXTERIOR -29.5 PSF
ROWLED FORMED UGHT COMMERCIAL QUAUTY, G-40 GALVANIZATION
DOORS UPTD 7'C° HIGH CONSIST OF Muw SECTIONS AS SHOWN, TEST LODADS
DOORS UPTO 80" HIGH CONSIST OF (5) SECTIONS AS SHOWN. +45.3 PSF
SUFPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED —433 PSF
BY A RECISTRED PROFESSIONAL ENGINEER FOR WINO LOADS
INDICATED ON THIS DRAWING IN ADDITIGN 10 OTHER LOADINGS.
THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE e | DECRPTON F FEVICS O} &




